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COOCH BEHAR PANCHANAN BARMA UNIVERSITY 

B.A./B.Sc. Programme 4th Semester Examination, 2019 

ECONOMICS 

PRINCIPLES OF MACRO ECONOMICS-II 
 

DSC (DSCECOG42) 
Time Allotted: 2 Hours Full Marks: 40 

The figures in the margin indicate full marks. 
Candidates are required to give their answers in their own words as far as practicable. 

 

 GROUP-A 

িবভাগ-ক 
1. Answer all the questions given below: 

িনেচর সবকিট  pেűর উtর দাওঃ 

1×10 = 10

(a) In case of demand-pull inflation 

(i) too much money chasing too few goods  

(ii) too much money chasing the same valued goods  

(iii) few money chasing larger amount goods  

(iv) none of these 

চািহদা-বৃিdজিনত মুdাsীিতর �kেt 
(i) �বিশ পিরমাণ অথ� খুব sl পিরমাণ িজিনেসর িদেক ধািবত হয়  
(ii) �বিশ পিরমাণ অথ� সমমূেল°র িজিনেসর িদেক ধািবত হয়  

(iii) খুব sl অথ� �বিশ পিরমাণ িজিনেসর িদেক ধািবত হয়  

(iv) �কােনাটাই নয় 

(b) Which one is a direct tax? 

(i) Sales Tax  (ii) Amusement Tax 

(iii) Income Tax  (iv) None of these 

িনেচর �কানিট pত°k কর ? 
 (i) িবkয় কর (ii) pেমাদ কর (iii) আয় কর (iv) �কােনাটাই নয় 

(c) Indirect tax is often called regressive in nature as because 

(i) its burden is heavier on richer  

(ii) its burden is heavier on poorer 

(iii) its burden is heavier on middle class 

(iv) None of these 
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পেরাk করেক pায়শই অধঃগিতসmn বলা হয় কারণ
(i) এই কেরর �বাঝা ধনীেËণীর উপর �বিশ পেড়  
(ii) এই কেরর �বাঝা দিরdেËণীর উপর �বিশ পেড়  

(iii) এই কেরর �বাঝা মধ°িবtেËণীর উপর �বিশ পেড় 

(iv) �কােনাটাই নয় 

(d) Interest is always  

(i) positive (ii) negative (iii) zero (iv) None of these 

সুদ সব�দাই  
(i) ধনাtক (ii) ঋণাtক (iii) শূন° (iv) �কােনাটাই নয় 

(e) Liquidity Preference Theory was first introduced by 

(i) Hicks (ii) Keynes (iii) Marshal (iv) None of these 

নগদ পছn তেttর সেñ আমােদর সব�pথম পিরচয় ঘটান 
(i) িহকস ্   (ii) �কইনস ্   (iii) মাশ�াল (iv) �কােনাটাই নয় 

(f) What is public debt? 

সরকারী ঋণ কােক বেল ? 

(g) What is stagflation? 

Stagflation কােক বেল ? 

(h) What is comparative advantage as the basis of international trade? 

বািণেজ°র tলনামূলক তttিট িক ? 

(i) What are the components of demand for loanable fund? 

ঋণেযাগ° তহিবেলর চািহদার উপাদানgিল িক িক ? 

(j) What is terms of trade? 

টাম�স অফ �¹ড িক ? 

  

 GROUP-B 

িবভাগ-খ 

2. Answer any one question from the following: 

িনmিলিখত �য-�কান একিট  pেűর উtর দাওঃ 

5×1 = 5

(a) Write a short note on components of Indian Budget. 

বােজেটর িবিভn উপাদান সmেক� একিট টীকা �লখ। 

(b) Discuss the concept of inflationary gap. 

মুdাsীিতর ফাঁক ধারণািট আেলাচনা কর। 

(c) What is the meaning of Govt. budget? 

Govt. budget-এর তাৎপয� বল। 
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 GROUP-C 

িবভাগ-গ 

 Answer any one question from the following 

িনmিলিখত �য-�কান একিট  pেűর উtর দাও 

10×1 = 10

3. Explain Adam Smith’s absolute cost advantage theory of trade. 

আnজ�ািতক বািণেজ°র �kেt অ°াডাম িsেথর cড়াn পিরব°য় সুিবধা তttিট ব°াখ°া কর। 

  

4. Discuss the advantages and disadvantages of indirect tax. 

পেরাk কেরর সুিবধা ও অসুিবধাgেলা আেলাচনা কর। 

  

5. Give the arguments for and against protection. 

সংরkেণর পেk ও িবপেk যুিk দাও। 

  

 GROUP-D 

িবভাগ-ঘ 

 Answer any one question from the following 

িনmিলিখত �য-�কান একিট  pেűর উtর দাও 

15×1 = 15

6.  (a) Distinguish between balance of payment and balance of trade.  

Balance of payment এবং balance of trade–এর মেধ° পাথ�ক° িনণ�য় কর। 

8+7

(b) Balance of Payment always balances— Explain the statement with suitable 
examples. 

Balance of Payment always balances— উপযুk উদাহরণসহ িবষয়িট ব°াখ°া কর। 

  

7. What is meant by loanable funds? How is the equilibrium rate of interest 
determined in the loanable fund theory? 

ঋণেযাগ° তহিবল বলেত িক �বাঝায় ? ঋণেযাগ° তহিবল তেtt িকভােব ভারসাম° সুেদর হার িনধ�ািরত 
হয় ? 

5+10

  

8. Distinguish between demand pull and cost push inflation. Discuss the effects of 
inflation on production and income distribution. 

চািহদা বৃিdজিনত মুdাsীিত এবং ব°য় বৃিdজিনত মুdাsীিতর মেধ° পাথ�ক° কর। উৎপাদন ও আয় 
বĊেনর উপর মুdাsীিতর pভাব আেলাচনা কর। 

8+7

 

——×—— 
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